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Such that 289 ≤ _ _ _ ≤ 841
Maximize the Expression
13 -  
You may only use integers -12 ≤ x ≤ 9, but ≠ 0
Maximize the Expression 
  __  __  __ X __  __ =  
__  __  __  __ 
You may only use integers               0 ≤ x ≤ 9, with no repeated digits
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Graph the linear equations

y=-4x/3
y=2x-12
y=x-6

Name the vertices of the geometric figure
          


 Graph y = 
    And y = -4-3x +1
   on the same window

Which graph is wider and why?
Evaluate the Expression
= x
Determine r, if 
343 ≤ x ≤ 4913
















       4			    5						6
	




The area of a square with a side length of X is given by the expression. What is the area of the square if X is 15 inches? 
You can run the mile in 7 minutes and 45 seconds, which is 30 seconds faster than your friend Fred can run the mile. Write an equation that you could use to determine the time it takes for Fred to run a mile (f).
A skate park charges $23.50 per person for an all-day admission to the park. The total cost for N people to go to the park is $23.50n. Eight friends go to the park. What is the total cost of admission?  
          



[image: C:\Users\x1049488\Desktop\CL16490 84CE Artwork.jpg]Determine at least 5 (x,y) pairs that satisfy the equation
y= 3x
Graph y= -x -5
Create a table of values where   7 ≤ x  14. What pattern do you notice in your table?  


Create a table of values 
For y= 4x-8 
where -9 ≤ x  1 
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Justin has three different ladders that are 15 feet, 13 feet and 12 feet. Approximately how far would the bottom of each ladder need to be from the base of the house in order to reach the 12 foot window above the ground? 
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Solve for b
a = 
b= ?
c= 
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Solve for the missing side
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[image: C:\Users\x1049488\Desktop\CL16490 84CE Artwork.jpg]The height of a basketball shot vertically is given by the function h(t) = 64t -16, where h is the height at        time, t. How long will it take to reach its highest point? 

Solve for y:  4x = 8-2y 
Graph the linear equation and create a table of values for the domain
-4 ≤ x ≤ 6

Solve the equation               4x +2y = 8 
When x  = -5, -8 and 14 and when y = 4, 0, -9
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The area of a square with a side length of x is given by the expression . What is the area of the square if x is 15 inches? 
A skate park charges $23.50 per person for an all-day admission to the park. The total cost for n people to go to the park is $23.50n. Eight friends go to the park. What is the total cost of admission?  
          


Tommy can run the mile in 7 minutes and 45 seconds, which is 30 seconds faster than your friend Fred can run the mile. Write an equation that you could use to determine the time it takes for Fred to run a mile (f).
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y= -4+3x-2
Graph the parabola and create a table of values for the range
-3 ≤ y ≤ -128

You are making candles for your friends. A mold for the candle costs $22.50 and wax to make one candle costs $4.24.Write an algebraic expression for the total cost of making G candles.  If you make 8 candles, what is the total cost? 
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